NEBENRAUM

_ 2. 40—

A 5 6 7 8 9
pe—y =3 = =3 E: =3 = = =
I 8.00 | 100/ 800 - |[1,00 | L. 00
- OpnooopoOoonoo0dn 00000o00odoosd gooodon)
{ T | | 1 [ T % [ m 1 [» [~ &
o O e o o s [ S [ ] Y s [ [
— OOOOOOoO0O0oOO0  Oooooooooogon ooooooo
gl [ - [ 2 | P ] 11 s T et | | % | n B §
- O000oooogooooo OOOOO0O00Do00d OooOoOoomg  Kucke
S oooooonooooons 0oooooooongoc Oonooond
T 1 % 1Lm [\ [ T »% [ e ] | T
?_DDDDDDDDDDDDD o JOoooooogOoadc oOoooOood
S OoohooooOonnnn  0000oooooooon ooooooo§g @
§F|26}PL|JF|26[PL|JF1A]PL
“| goooooooooood  Oo000oo0ooond  0noooid NN
S Onoooo0ooononn Doooooodoooooo do0onuLl -
2| [ 26 | P | 1L T e [ 1 o om _J/ V
OOOOnononoonD  Oonoooooooood 00000 L -
HALLE | A
' < llll FLUR [
~ ‘ I N
1| = =3 E= - = +H g

A ULET O RZHALUE  LoXHd (OSae
VERS oW ) |

Lo AT RCATF



